# THE ALGEBRAIC STRUCTURE AND POISSON'S THEORY FOR THE EQUATIONS OF MOTION OF NON-HOLONOMIC SYSTEMS $\dagger$ 

MEI FENGXIANG<br>China<br>(Received 5 June 1996)

Poisson's theory for holonomic conservative systems is shown to apply partially to non-holonomic systems. © 1998 Elsevier Science Ltd. All rights reserved.

Existing methods of integrating the equations of non-holonomic dynamics are based on the laws of conservation [1], reducing the order of the equations [2], Noether's theorem [3,4], an extension of the Hamilton-Jacobi method [5], a field method [6, 7], the method of invariant measure [8], etc.

Poisson's theory for holonomic conservative systems makes use of the fact that the Hamiltonian equations possess an algebraic structure, whence it follows, in particular, that the Poisson bracket can be introduced for non-holonomic systems and Poisson's theory can be partly extended to them.

1. Let the position of a mechanical system be defined by the generalized coordinates $q_{s}(s=1, \ldots, n)$ and the system is under ideal non-holonomic constraints (as stated by Chetayev)

$$
\begin{equation*}
f_{\beta}\left(q_{s}, \dot{q}_{s}, t\right)=0, \quad \beta=1, \ldots, g \tag{1.1}
\end{equation*}
$$

We write the equations of motion of the system in the form

$$
\begin{equation*}
\frac{d}{d t} \frac{\partial T}{\partial \dot{q}_{s}}-\frac{\partial T}{\partial q_{s}}=Q_{s}+\Lambda_{s}, \Lambda_{s}=\Lambda_{s}(q, \dot{q}, t)=\sum_{\beta=1}^{g} \lambda_{\beta} \frac{\partial f_{\beta}}{\partial \dot{q}_{s}} \tag{1.2}
\end{equation*}
$$

Let

$$
\tilde{Q}_{s}=Q_{s}+\Lambda_{s}=Q_{s}^{\prime}+Q_{s}^{\prime \prime}, \quad Q_{s}^{\prime}=\frac{\partial U}{\partial q_{s}}-\frac{d}{d t} \frac{\partial U}{\partial \dot{q}_{s}}
$$

Then Eqs (1.2) take the form

$$
\begin{equation*}
\frac{d}{d t} \frac{\partial L}{\partial \dot{q}_{s}}-\frac{\partial L}{\partial q_{s}}=Q_{s}^{\prime \prime}, \quad L=T+U \tag{1.3}
\end{equation*}
$$

These equations can be used to describe a holonomic system with $n$ degrees of freedom, with generalized forces $Q_{s}^{\prime \prime}$ and Lagrange function $L$. If the initial conditions satisfy Eqs (1.1), the solution of Eq. (1.3) gives the motion of the non-holonomic system (1.1), (1.2) [9].
2. We will consider the algebraic structure of Eqs (1.3). Let

$$
\begin{gather*}
p_{s}=\frac{\partial L}{\partial \dot{q}_{s}}, \quad H=\sum_{s=1}^{n} p_{s} \dot{q}_{s}-L  \tag{2.1}\\
Q_{s}^{\prime \prime}=-\sum_{k=1}^{n} \Omega_{s k} \frac{\partial H}{\partial p_{k}}, \quad \Omega_{s k}=\operatorname{diag}\left(\Omega_{11}, \ldots, \Omega_{n n}\right) \tag{2.2}
\end{gather*}
$$

Equations (1.3) take the form

$$
\begin{equation*}
\dot{a}^{\mu}-S^{\mu v} \frac{\partial H}{\partial a^{\nu}}=0, \quad \mu, v=1, \ldots, 2 n \tag{2.3}
\end{equation*}
$$

$$
\begin{aligned}
& a^{\mu}=\left\{\begin{array}{ll}
q_{\mu}, & \mu=1, \ldots, n \\
p_{\mu-n}, & \mu=n+1, \ldots, 2 n
\end{array}, \quad s^{\mu v}=\omega^{\mu v}+T^{\mu v}\right. \\
& \omega^{\mu \nu}=\left\|\begin{array}{cc}
o_{n \times n} & I_{n \times n} \\
-I_{n \times n} & o_{n \times n}
\end{array}\right\|, \quad T^{\mu v}=\left\|\begin{array}{ll}
O_{n \times n} & o_{n \times n} \\
o_{n \times n} & \left(-\Omega_{k k}\right)_{n \times n}
\end{array}\right\|
\end{aligned}
$$

Summation over repeated indices is carried out everywhere.
We will represent the derivative with respect to time of a function $A\left(a^{\mu}\right)$ in the form of the algebraic product

$$
\begin{equation*}
\dot{A}=\frac{\partial A}{\partial a^{\mu}} S^{\mu \nu} \frac{\partial H}{\partial a^{\nu}} \underline{\underline{\Delta}}_{A} \circ H \tag{2.4}
\end{equation*}
$$

This product possesses the following properties

$$
\begin{aligned}
& A \circ(B+C)=A \circ B+A \circ C,(A+B) \circ C=A \circ C+B \circ C \\
& (\alpha A) \circ B=A \circ(\alpha B)=\alpha(A \circ B)
\end{aligned}
$$

Hence it possesses an intrinsic algebraic structure. It does not, however, provide a Lie algebra in the general case.

We define the new product

$$
\begin{equation*}
[A, B] \xlongequal{\underline{\aleph}} A \circ B-B \circ A \tag{2.5}
\end{equation*}
$$

which is skew-symmetric and satisfies the Jacobi identity

$$
[A,[B, C]]+[B,[C, A]]+[C,[A, B]]=0
$$

Hence the equations of motion (1.3) possess a structure for which there is a Lie algebra. In the special case where $T^{\mu \nu}=0$, the equations of motion (1.3) possess the algebraic structure of a Lie algebra, that is, they are Hamiltonian.
3. We now integrate the equations of motion (1.3) on the basis of their algebraic structure and Poisson's theory. Suppose that $I\left(a^{\mu}, t\right)=$ const is the first integral of Eqs (2.3). Then, using definition (2.4), we have the identity

$$
\begin{equation*}
\frac{\partial I}{\partial t}+\frac{\partial I}{\partial a^{\mu}} S^{\mu v} \frac{\partial H}{\partial a^{v}}=\frac{\partial I}{\partial t}+I \circ H=0 \tag{3.1}
\end{equation*}
$$

which is the generalized Poisson condition for the integral of Eqs (2.3).
Substituting $I=H$ into (3.1) we obtain

$$
\begin{equation*}
\frac{\partial H}{\partial t}+H \circ H=\frac{\partial H}{\partial t}+\frac{\partial H}{\partial a^{\mu}} T^{\mu \nu} \frac{\partial H}{\partial a^{v}}=\frac{\partial H}{\partial t}+\lambda_{\beta} \frac{\partial f_{\beta}}{\partial \dot{q}_{s}} \dot{q}_{s} \tag{3.2}
\end{equation*}
$$

If

$$
\begin{equation*}
\frac{\partial H}{\partial t}=0, \frac{\partial f_{\beta}}{\partial \dot{q}_{s}}=\dot{q}_{s} k_{\beta} f_{\beta} \tag{3.3}
\end{equation*}
$$

the right-hand side of Eq. (3.2) vanishes. We thus have the following theorem [10].
Theorem 1. If the Hamilton function $H$ is independent of time and the equations of non-holonomic constraints (1.1) are homogeneous with respect to generalized velocities, then the Hamilton function will be the first integral of system (2.3).
Taking the partial derivative with respect to $t$ of both sides of Eq. (3.1) in the case where $S^{\mu v}$ and $H$ are independent of $t$, we obtain

$$
\frac{\partial}{\partial t}\left(\frac{\partial I}{\partial t}\right)+\frac{\partial I}{\partial t} \circ H=0
$$

A similar equation holds for $\partial^{2} I / \partial t^{2} . \partial^{3} I \partial t^{3}, \ldots$. We thus have the following theorem.
Theorem 2. If system (2.3) has a first integral which depends on time, and $H$ and $S^{\mu v}$ are independent of time, then $\partial I / \partial t, \partial^{2} I / \partial t^{2}, \partial^{3} t / \partial t^{3} \ldots$ are first integrals of system (2.3).

The next theorem can be proved in the same way by taking the partial derivative with respect to $a^{p}$ of both sides of Eq. (3.1).

Theorem 3. If system (2.3) has a first integral which contains $a^{p}$, and $H$ and $S^{\mu v}$ do not contain $a^{p}$, then $\partial / \partial a^{p}$, $\partial^{2} I / \partial a^{p^{2}}, \partial^{3} I / \partial a^{p^{3}}$ are first integrals of system (2.3).
In the general case, the product (2.4) does not form a Poisson bracket or generalized Poisson bracket and Poisson's theory cannot be applied to system (2.3) in the general case.
4. Examples of the use of Theorems 1-3. In Appell's example the Lagrange function and constraint equation have the form

$$
L=1 / 2 m\left(\dot{q}_{1}^{2}+\dot{q}_{2}^{2}+\dot{q}_{3}^{3}\right)-m g q_{3} . \quad c^{2} \dot{q}_{3}^{2}=\dot{q}_{1}^{2}+\dot{q}_{2}^{2}
$$

Equations (1.3) have the form

$$
\begin{aligned}
& m \ddot{q}_{1}=-\xi C^{2} \dot{q}_{3} \dot{q}_{1}, m \ddot{q}_{2}=-\xi C^{2} \dot{q}_{3} \dot{q}_{2}, m \ddot{q}_{3}=-m g+\xi C^{4} \dot{q}_{3}^{2} \\
& \xi=m g /\left(\dot{q}_{1}^{2}+\dot{q}_{2}^{2}+C^{2} \dot{q}_{3}^{2}\right)
\end{aligned}
$$

We have

$$
\begin{aligned}
& p_{s}=\partial L / \partial \dot{q}_{s}, s=1,2,3 \\
& H=\sum_{s=1}^{3} p_{s} \dot{q}_{s}-L=\frac{1}{2 m}\left(p_{1}^{2}+p_{2}^{2}+p_{3}^{2}\right)+m g q_{3}
\end{aligned}
$$

Then, using identity (2.2), we obtain

$$
\begin{aligned}
& \Omega_{11}=\eta C^{2} p_{3}, \Omega_{22}=\eta C^{2} p_{3}, \Omega_{33}=-\eta C^{4} p_{3} \\
& \eta=m^{2} g /\left(p_{1}^{2}+p_{2}^{2}+C^{4} p_{3}^{2}\right)
\end{aligned}
$$

We put $n=3$ in Eqs (2.3). It follows from Theorem 1 that the Hamilton function $H$ will be a first integral

$$
H=\frac{1}{2 m}\left\{\left(a^{4}\right)^{2}+\left(a^{5}\right)^{2}+\left(a^{6}\right)^{2}\right\}+m g a^{3}=h=\text { const }
$$

Note that this system has the first integral

$$
I_{1}=\left\{a^{1}-\left(a^{4} / a^{5}\right) a^{2}\right\}^{2}=\text { const }
$$

and $H$ and $S^{\mu \nu}$ do not contain $a^{1}, a^{2}$. By Theorem 3, we obtain the first three integrals

$$
\begin{aligned}
& I_{2}=\partial I_{1} / \partial a^{1}=\left\{a^{1}-\left(a^{4} / a^{5}\right) a^{2}\right\}=\text { const } \\
& I_{3}=\partial I_{1} / \partial a^{2}=2\left(a^{1}-\left(a^{4} / a^{5}\right) a^{2}\right\}\left(-a^{4} / a^{5}\right)=\text { const } \\
& I_{4}=\partial^{2} I_{1} / \partial a^{1} \partial a^{2}=-2 a^{4} / a^{5}=\text { const }
\end{aligned}
$$

We note that this system has the first integral

$$
I_{5}=\left(a^{6}+\zeta t\right)^{2}=\text { const, } \zeta=g /\left(C^{2}+1\right)
$$

and $H$ and $S^{\mu \nu}$ are independent of $t$. Using Theorem 2 , we obtain the first integral

$$
I_{6}=\partial I_{5} / \partial t=2\left(a^{6}+\zeta_{t}\right) \zeta=\text { const }
$$

In the example of Novoselev [9], the Lagrange function and equation of non-holonomic constraint have the form

$$
L=1 / 2\left(\dot{q}_{1}^{2}+\dot{q}_{2}^{2}\right), \quad f=\dot{q}_{1}+b t \dot{q}_{2}-b q_{2}+t=0
$$

The equations of motion (1.3) give

$$
\frac{d}{d t} \frac{\partial L^{\prime}}{\partial \dot{q}_{s}^{\prime}}-\frac{\partial L^{\prime}}{\partial q_{s}}=0, \quad s=1,2
$$

$$
L^{\prime}=L+\frac{1}{b} \dot{q}_{1} \operatorname{arctg} b t+\frac{1}{2 b} \dot{q}_{2} \ln \left(1+b^{2} t^{2}\right)
$$

In Eqs (2.3) we put $n=2$, where

$$
\begin{aligned}
& a^{1}=q_{1}, a^{2}=q_{2}, a^{3}=p_{1}=\dot{q}_{1}+\frac{1}{b} \operatorname{arctg} b t \\
& a^{4}=p_{2}=\dot{q}_{2}+\frac{1}{2 b} \ln \left(1+b^{2} t^{2}\right) \\
& H=\frac{1}{2}\left[p_{1}-\frac{1}{b} \operatorname{arctg} b t\right]^{2}+\frac{1}{2}\left[p_{2}-\frac{1}{2 b} \ln \left(1+b^{2} t^{2}\right)\right]^{2}
\end{aligned}
$$

Poisson's theory can obviously be applied to this system.
Financial support for this research was provided by the Chinese Foundation for the Natural Sciences.

## REFERENCES

1. KOZLOV, V. V. and KOLESNIKOV, N. N., On the theorems of dynamics. Prikl. Mat. Mekh., 1978, 42, (1), 28-33.
2. MEI FENGXIANG, Extension of Whittaker Equations to nonholonomic mechanical systems. Appl. Math. Mech., 1984, 5, (1), 61-66.
3. LI ZIPING, Transformation property of constrained system. Acta Physica Sinica, 1981, 30, (12), 1659-1671.
4. LIU DUAN, Noether's theorem and its inverse of nonholonomic nonconservative dynamical system. Science in China. Ser. A, 1991, 34, (4), 419-429.
5. RUMYANTSEV, V. V. and SUMBATOV, A. S., On the problem of a generalization of the Hamilton-Jacobi method for nonholonomic systems. ZAMM, 1978, 58, (11), 477-481.
6. MEI FENGXIANG, A field method for solving the equations of motion of nonholonomic systems. Acta Mechanica Sinica, 1989, 5, (3), 260-268.
7. MEI FENGXIANG, A method of integrating the equations of motion of non-holonomic systems with higher-order constraints. Prikl. Mat. Mekh., 1991, 55, (4), 691-695.
8. KOZLOV, V. V., On the existence of an integral invariant of smooth dynamical systems. Prikl. Mat. Mekh., 1987, 51, (4), 538-545.
9. NOVOSELOV, V. S., Variational Methods in Mechanics. Izd. Leningrad. Gos. Univ., Leningrad, 1966.
10. RUMYANTSEV, V. V., The dynamics of rheonomic Lagrangian systems with constraints. Prikl. Mat. Mekh., 1984, 48, (4), 540-550.
